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SECTION - A 

All Sections are Compulsory. 

 

Q1) a) Read the following passage and answer the questions. (5) 

  I decided that I should put my friend at case , that I should assure him that 

I would be clumsy no more, but try to become polished and make up for 

my vegetariaoismby cultivating other accomplishments which fitted one 

for polite society. And for this purpose I understood the all too impossible 

task of becoming an English gentleman. 

i) From which lesson is this passage taken? 

ii) Who is the author? 

iii) What qualities of Gandhi troubled his English friends? 

iv) How did Gandhi try to make up for his vegetarianism? 

v) What does the expression this purpose stand for? 

 

 b) Read the passage and choose the right answer : (5) 

      

 Knowledge has always been the prime mover of prosperity and power.The 

acquisition of knowledge has therefore been the thrust area throughout the 

world. Additionally, in India, there has been a culture of sharing it, not 

only through the tradition of guru – shishya but also its spread to neigh-

bouring countries through travellers who came to Nalanda and other 

universities drawn by their reputation is centres of learning.    

i) How is power attained ? 

1) knowledge  2) prosperity  

  3) culture 4) sharing 

ii) What is the culture following in India regarding knowledge? 

1) learning 2) teaching 

  3) sharing 4) writing 

 

iii) Knowledge was shared by_____  



   

 

  1) guru- shishya 2) travellers  

  3) books 4) 1 and 2 

 iv) What were considered as centres of learning? 

  1) Schools   

  2) Universities 

  3) Nalanda  

  4) 2 and 3 

 v) Give a synonym of ‘prime’ 

  1) last 2) chief 

  3) moderate 4) average 

 

Q2) Answer any Two of the following in not more than 100 words each.     (2 × 4 = 8) 

a) Why was Gandhi keen to appear for the London matriculation even though 

he was preparing for the Law examinations? 

 b) How does Abdul Kalam  show that real knowledge is a combination of past 

wisdom and present day technology?    

 c) Comment on Orwell decision to shoot the elephant.    

 d) How relevant are Russells views on war and place in today’s world?   

Q3) Answer any One of the following in about 200 words. (7) 

a) How is the Drunkard a moral drama?  

b) What does Helen Keller want to see on her first seeing day? 

c) What is P.T. Baraum’s advice to people who have a good in come and 

have no savings at the end of the year? 

 

SECTION – B 

 

Q4) a) Answer any One in not more than 100 words. (4) 

i) What is the poets prayer to the West wind? 

ii) Describe the duties of Telemachus. 

iii) What is Kamala Das’s advice to fellow human beings? 

 

  

  

  



   

b) Explain any ONE (4) 

  i) And on a day we meet to walk the line And set the wall between us 

once again 

  ii) ……I see him there  

  Bringing a stone grasped firmly by the top In each hand, like an 

  old – stone savage armed. 

  iii) Made weak by time and fate, but strong in will, to strive to seek to 

find and not to yield. 

 

Q5) Answer any One in about 200 words. (6) 

a) What does the poet see in the chartered streets of London? 

b) What is the theme of Mending wall? 

c) Summarize the poem the Gift of India. 

SECTION –C 

 

Q6) Answer any One in about 200 words. (6) 

 a) Give the Character sketch of ‘Ha Peany’.  

 b) Summarize the short story ‘The Lottery ticket’.  

 c) Consider ‘Diamond Rice’ as a mild satire on society. 

 

SECTION –D 

 

Q7) Read the following passage and summarize it : (5) 

 Man craves for appreciation. The secret of happiness is to be appreciative of the 

world. Most people feel that they are not duty appreciated. Start complimenting 

and praising others and you will be properly recognised. By appreciating the 

world, we can enjoy the best things and brighten the day. The recipient of 

encouraging words cherishes them over a life time. They may help one achieve a 

noble goal . Appreciation comforts a lonely and discouraged person. Respecting 

human connections makes world a happier place. A sure way to success is to 

acknowledge others help. Give others the best and the best comes to you. Great 

philosophers, humanists, teachers and writers have contributed to this idea. 

 

 

  

  



   

Q8) Write an essay on One of the following. (5) 

 a) Physical activity   

 b) Health   

 c) Environment 

 

Q9) Answer any One of the following. (5) 

 a) Write a report on the sports day meet in your college.   

 b) Write a report on the water scarcity in your area.  

 

Q10) Use four of the following idioms and phrases in sentences of your own. (5) 

 a) Body and soul  

 b) By leaps and bounds   

 c) A bed of roses    

 d) At one’s beck and call   

 e) A burning question 

 f) Through and through      

 g) Ins and outs  

 h) Head over shoulders  

 

Q11) Answer any One. (5) 

a) Write a dialogue between a teacher and a student on the importance of 

exams.  

 b) Write a letter to your friend suggesting him to do his post- graduation.  

c) Write a letter to the editor of a newspaper about the menace of street dogs 

in your area. 

  

 

* * * 
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Q1) “Mìü…¨ Ðé°ÌZ JMæü ç³§éÅ°Mìü {ç³†ç³§éÆæÿ® ™é™èþµÆ>ÅË$ {ÐéÄ¶ý$…yìþ. (8) 

a) {†ç³µMæü$ Ð@þ$¯@þ² Ð@þ* Ð@þ$™èþÐ@þ¬ ©ÆæÿƒÐ@þ¬OÌñý¯@þ {†Ð@þÆæÿY ´ëuæÿÐ@þ¬ÌŒý 

§æþç³µMæü Ð@þ$¯@þ²! ¯óþyæþ$ Ð@þ$¯@þ O§ðþ™èþÅ Ð@þÆóÿ×ý$Å° {Ððþ*Ë ¯óþÐ@þ¬Ð@þ¬ þ 

^ðþí³µ̄ @þÈ† V>° Ð@þ$‚ ìý òÜç³µMæü$ Ð@þ$¯@þ²! ÑÆø«̈  ±™èþ$Ë  

Ñç³µMæü$ Ð@þ$¯@þ²! §æþ$çÙtÐ@þ$Væü$ ÑçÙ$~̂ èþÇ{™èþ Mæü§éÆæÿ® gêËÐ@þ¬¯Œþ.  

b) A¯@þÑ° {Ðóþr$Ð@þyæþz Ä¶ý¬Ææÿ V>…Væü¯@þÄ¶ý¬… ºÌñý ¯óþÆÿ¬ ÐøÄ¶ý$ ¿¶ý 
VæüȲ @þ §æþÇMö¯@þ² ÁçÙ×ý çßý$™éÔ¶ý¯@þ MîüË Ä¶ý$¯@þ…Væü Ìôý_, òßý 
_ā @þ Mæü¯@þ$§øÆÿ¬ Mðü…ç³# ™èþ¯@þ ð̂þMæü$PË— Væü$…Mæü$Ð@þ$ ç³{™èþ ¿¶ý…Væü ¯@þ… 
f°™èþ @̄þÒ¯@þ M>…† Ððþ§æþ^èþËÏ—Væü Væü§æþY§æþ S @̄þ² Mæü…vOÄñý$. 
 

Q2) “Mìü…¨ Ðé°ÌZ {ç³† ¿êVæü… ¯@þ$…yìþ Æðÿ…yìþ…sìýMìü çÜ…§æþÆæÿÂ çÜíßý™èþ ÐéÅQÅË$ {ÐéÄ¶ý$…yìþ. (2×4=8) 

A & ¿êVæü… 

a) Ð@þ*Mæü$ ¯ú§æþËÌŒý Ð@þ…^èþ$ Mö¯@þ…Væü gôýíÜ†Ñ. 

b) ±Ð@þ# §æþÄ¶ý$Væü¯öȲ @þ Mæü$…yìþ¯@þ °ËÓ¯óþÆæÿ$¢̄ óþ. 

c) ¿êÆæÿ™èþ çÜ…íßý™èþ °Ë$a ^éyæþ$µ̄ @þ¯Œþ. 

d) HÑ$ Ñ°Äñý$ §æþÐ@þ$ÃÆöÆÿ¬…Mæü¯Œþ. 

B & ¿êVæü… 

a) H º$§æþª §óþÐ@þ#yìþ f¯@þÃ¿¶ý*Ñ$Mìü VæüÆæÿÓçÜÃ –†. 

b) ´ëyìþ¯éyæþ Ð@þ$à…{«§æþ Ýû¿êVæüÅ È†. 

c) Ð@þ$¯@þ {º™èþ$Mæü$ÌZ¯óþ—yæþ ç³NÆæÿÓOÐðþ$¯@þ ¨¯@þÐ@þ¬ÃÆ>! 

d) çÜ*Ææÿ$Åyæþ$ MìüÆæÿ×êË º…yæþ$Ï ™øË$Mæü$° Ð@þçÜ$¢̄ é²yæþ$. 
 



   

  
 

Q3) ““Mìü…¨ Ðé°ÌZ {ç³† ¿êVæü… @̄þ$…yìþ JMæü§é°Mìü çÜÐ@þ*«§é¯@þ… {ÐéÄ¶ý$…yìþ. (2 × 7 = 14) 

A & ¿êVæü… 

 a) {ç³àÏ§æþ$yæþ$ ™èþ…{yìþ G§æþ$r çßýÇ¿¶ýMìü¢° {ç³Mæüsìý…_¯@þ Ñ«§æþÐ@þ¬ ÑÐ@þÇ… è̂þ$¯@þ¨. 

 b) çÜ™èþÅ¿êÐ@þ$ ^ðþÍMæü™ðþ¢ Ð@þ§æþª ™èþ¯@þ BÐóþ§æþ¯@þ¯@þ$ Ð@þÅMæü¢Ð@þ¬ ^óþíÜ¯@þ Ñ«§æþÐ@þ¬ ÑÐ@þÇ…ç³#Ð@þ¬. 

B & ¿êVæü… 

 a) “Ô¶ýOÐðþ$Mæü iÐ@þ¯@þ Ýû…§æþÆ>Å°Mìü, çÜÐ@þ*¯@þOÐðþ$¯@þ¨ Ìôý¯óþÌôý§æþ° }} ^óþíÜ¯@þ {ç³†fq̄ @þ$ 

°Ææÿ*í³…^èþ…yìþ. 

 b) ËMæü$Ð@þ$ÌZ ÝëW¯@þ A…™èþÆæÿÃ£æþ¯é°² ÑÐ@þÇ…^èþ…yìþ. 

 

Q4) ““Mìü…¨ Ðé°ÌZ {ç³† ¿êVæü… @̄þ$…yìþ JMæü§é°Mìü çÜÐ@þ*«§é¯@þ… {ÐéÄ¶ý$…yìþ. (2 × 6 = 12) 

A & ¿êVæü… 

 a) ´ë¯@þ$Væü…sìý ËMîü‡̄ @þÆæÿíÜ…çßýÆ>Ð@þ# V>Ç Ýëíßý™èþÅ õÜÐ@þ¯@þ$ ÑÐ@þÇ…^èþ$¯@þ¨. 

 b) Æ>Ä¶ý$ËM>Ë…¯ésìý ïÜ̂° Væü*Ça ÆæÿíÜMæü$Ë {ç³Ð@þ–†¢° Væü*Ça ÑÐ@þÇ… è̂þ…yìþ. 

B & ¿êVæü… 

 a) Mæü–çÙ~Ô>íÜ̂ V>Ç Ð@þ^èþ¯@þ Ææÿ^èþ¯é çÜ…Ñ«§é¯é°² ‘ºçßý$M>Ë §æþÆæÿØ¯@þ…’ B«§éÆæÿ…V> ™ðþËµ…yìþ. 

 b) Ð@þ$¯@þ$ ^èþÇ{™èþÌZ ÆæÿçÜ´ùçÙ×ý & ´ë{™èþ _{™èþ×ýË @̄þ$ Væü*Ça {ÐéÄ¶ý$…yìþ. 

 

Q5) “Mìü…¨ Ðé°ÌZ Æðÿ…yìþ…sìýMìü çÜÐ@þ*«§é¯éË$ {ÐéÄ¶ý$…yìþ. (2 × 6 = 12) 

a) Í…VæüÆ>k 

b) MæüÐ@þ$Ë 

c) ¯éÅÄ¶ý*«̈ ç³† 

d) ç³#×ýÅÐ@þÊÆæÿ$¢Ë ç³#Ææÿ$Úù™èþ¢Ð@þ$Æ>Ð@þ# 

 

  



   

Q6) “Mìü…¨ Ðé°ÌZ JMæü §é°° Væü*Ça ÐéÅçÜ… {ÐéÄ¶ý$…yìþ. (6) 

a) ¯óþsìý çÜÐ@þ*f…ÌZ ïÜˆ́ ë{™èþ. 
b) AÑ±† °Ææÿ*ÃË @̄þ…. 
c) AÀÐ@þÅMìü¢ Ō ðþç³#×êÅË$. 

 

Q7) a) i) “Mìü…¨ ç³§æþÅ´ë§é°Mìü Væü×ý Ñ¿¶ýf¯@þ ^óþíÜ, bèþ…§æþçÜ$Þ̄ @þ$ Væü$Ç¢…_ Ä¶ý$†° 
õ³ÆöP¯@þ…yìþ.  (5) 

   Ððþ*§æþÐ@þ¬ ™øyæþ O§ðþ™èþÅMæü$Ë Ð@þ¬Q$Åyæþ$ ÆæÿÐ@þ$Ã° `Ææÿ— º… ð̂þ{º 

(Ìôý§é) 

 ii) “Mìü…¨ Ðé°ÌZ JMæü §é°Mìü Ýù§éçßýÆæÿ×ý…V> Ë„æü×êÍ² ™ðþËµ…yìþ. 

 1) Ô>Ææÿ*®ËÐ@þ¬ 
 2) ^èþ…ç³MæüÐ@þ*Ë 

 b) i) “Mìü…¨ ç³§æþÅ…ÌZ AË…M>Æ>°² ™ðþÍµ, Ë„æü×ý… ™ðþÍµ, çÜÐ@þ$¯@þÓÆÿ¬…^èþ…yìþ.  (5) 

   Ððþ*§æþÐ@þ¬ ™øyæþ O§ðþ™èþÅMæü$Ë Ð@þ¬Q$Åyæþ$. 

(Ìôý§é) 

 ii) “Mìü…¨ AË…M>Æ>ËÌZ JMæü §é°Mìü Ýù§éçßýÆæÿ×ý…V> Ë„æü×ý… ™ðþËµ…yìþ. 

 1) Eç³Ð@þ$ 
 2) çÜÓ¿êÐøMìü¢ 

 

� � � 
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Q1) Answer any Two Questions: Û¶ln… BÎl` zaHU& (2 × 10 = 20) 

a) Sketch the character of Jeemutha Vahana? 

Nq‘xUclgYñ¶ dqa§ mlÌzLÌT§ Gv$ê$U> 

b) Narrate the story of ‘URUBHANGA’? 

  C$ê$]“YlP=G$ñ¶ G$Vlfl §̀ zaHU> 

c) Sketch the character of Baladeva? 

  }aWncñ¶ mlÌzLÌT§ Gv$ê$U> 

d) Sketch the character of Sudama as described in Krishnasya Maitri? 

  fvWl‘ñ¶ dqa§ mlÌzLÌT§ zYzW©îP= G$VlYvfl§̀  zaHU> 

    

Q2) a) Explain the story of according to whichVishwamitra attained the status of 

Brahmarshi?  (10) 

   zcíclz‘Ìñ¶ }«÷ze©ËcàloßU= G$Vl§ zcdW¶U> 

@Vcl (OR) 

 b) Write the substance of the story  

  z]eNln… ]¡eÁ¶‘²&  

  z]eNln ]¡eÁ¶z‘zU G$¶l¶l… fl`l§d§ zaHU& 

 

 



   

  

Q3) Explain the four of the following with reference to context. LUvTlª ffÝW]ª ì¶l»¶lU&

   (4 × 2 = 8) 

 a) ‘Ü¶‘mvÌ… dvY… dnm… d`T‘¶lLU& 

 b) mvÌdU zcYld Wþ…zHU§ f‘líclfl¶& 

 c) fc©ñ¶lÏ¶lIUn Ivê$…& 

 d) @l¶lf… Hav `lÁ¶‘voÝOU Iv̀ ln…& 

 e) dvGn$Y L mW§ få‘lYz‘W§ mQ²=¶Un& 

 f) @Ì fc| ‘gl`lNñ¶ z‘ÌlzT Wlc& 

 g) flÝÐqG¥$U Y¶Y }ÝXz‘W§ WXlz‘ 

 

Q4) Write a brief note on any two. Û¶ln… aJvP=qG$l§ zaHU& (2 × 2 = 4) 

 a) ‘lJ…& 

 b) ]Å=Yl`l¶T…& 

 c) kqge©…& 

 d) ]l`zc& 

 

Q5) Define and illustrate any Two Alankaras. Û¶ln… aú¶ aiT f‘oÝcU§ @a‘l`lzT zaHU& 

  (4 × 2 = 8) 

 a) Bm‘l& 

 b) ÑîP=lÝU…& 

 c) WqmG$‘²& 

 d) @Vl©ÝU`Ý¶lf…& 

                                            

Q6) Write the forms of any four of the following Sabdas.  

 mUvTlª zYzW©îP= zc]z³U ê$mlzT zazHU& (4 × 2 = 8) 

 a) clL² (LUvVt) 



   

 b) Na‘vL² (eîP=q) 

 c) `lNY² (fá‘q) 

 d) zcÛf² (àV‘l) 

 e) ]cU² (m#l‘q) 

 f) ¶vî‘W² (zÛUq¶l) 

 g) zG$‘² (ñÌq) (àV‘l) 

 h) àUWÿ (ñÌq) (LUvVt) 

 

Q7) Write the forms of any four of the following adding the given terminations. 

 LUvTlª UÎlËàË¶¶lY² ¶lnNz¶Ëc zaHU& (4 × 1 = 4) 

 a) G¥$ - Uv‘vY² 

 b) mQ²= - ³U 

 c) I‘² - ë¶m² 

 d) Yq - dlYL² 

 e) Wl - Uv‘vY² 

 f) G¥$ - dlYL² 

 g) jl - dU¥ 

 h) ñ‘¥ - ³UcU² 

Q8) Translate any four sentences in to Telugu or English.           (4 × 2 = 8) 

 LUvTlª @lÝX«]lel¶l§ cl @l“a]lel¶l§ @YvclWY& 

  a) zcÛlY² fc©Ì mxÁ¶Un& 

  b) zcÚl WWlzU zcY¶‘²& 

  c) kq `l‘… Wd`Vñ¶ Á¶nîP= mvÌ…& 



   

  d) c¥iln `izU `ziU…& 

  e) m`lnmG$l l̀¶ cgoÝU YÚ…& 

  f) ‘‘ mlQ=dlal¶l§ G«$rR=l]xz‘… @oñU& 

  g) fË¶§ cW, X‘ª L`& 

  h) ‘lU¥Wncln ]c& 
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SECTION-A             

Q1) zYåYzazHU mÚl§d G$ln fàf§I ì¶l»¶l G$rzND& (18) 

 a) NlzU Y mxM=ln flXv G$r, mxM= aqzND jlY& 

  ‘lna G$`ln Uacl` G$l, m‹R=l `gY Wln å¶lY&& 

    @Vcl 

  WqY f}Y G$ln aHU g¡, WqYpg aH¡ Y G$ln¶& 

  Nln `gq‘ WqYpg aH¡, WqY }ÝXv f‘ gln¶&& 

 b) G$`Gn$ mgl‹R=-fl mlm ‘l¡Y `g Nl±C$> 

  `lA© ]` ]q @YvmlU Y G$`Yn ml±C$ 

  Vq f‘iÌ dzd-zYím @lnf P=mG$lUq, 

  `lnUq Vq Yq`c ê$]l öW¶ VmG$lUq& 

    @Vcl 

  }LlG$` }qN ê$m fn f¥zîP=, Ylc m` Ona àa¶ G$l dqU& 

  @ê$T-Gn$UY anG$` zYN glV cê$T mV ‘{ g‘ }‹S=n @]qU&& 

 c) Lan m‹R=n zNX` Wln BI‘I mI, 

  }‹S= Lan G$lnzP= mI Bfq @lǹ , 

  m‹R= IA© zNX` ]q DG$ ÑzîP=, 

  I‹R= I¶n G$lnzP= ÑI Bfq @lǹ & 

    @Vcl 

  zg‘la¶ Gn$ @l±IY ‘{ Bfn àV‘ zG$`Tl{ G$l Wn Bmgl`& 

  Bel Yn g±f @z]YÝWY zG$¶l @l¡̀  mgYl¶l gq`G$ gl`&& 

    



   

  

SECTION-B 

 Q2) zG$fq DG$ G$zcUl G$l fl`l§d zazHD& (10) 

 a) G$‘©cq`& 

 b) z]ivG$& 

 c) g‘l`l ß¶l`l ]l`U ce©& 

 

Q3)  zG$fq DG$ G$zc G$l mZ`L¶ WqzND& (10) 

 a) UvafqWlf& 

 b) kq ‘¡Vaqd`T IvßU& 

 c) kq fx¶©G$l§U zÌmlQ=q zY l̀al& 

 

Q4) zG$fq DG$ zce¶ m` zY}§X zazHD& (10) 

 a) WndlP=Y& 

 b) }nG$l`q G$r f‘ñ¶l& 

 c) zcÚlVt @l¡̀  `lNYqzU& 

 d) m¶l©c`T-àWÿeT& 

 e) WgnN-àVl& 

 

Q5) zG$fq DG$ flzgË¶ zce¶ m` zY}§X zazHD& (10) 

 a) zgÝWq flzgË¶ Gn$ AzUglf Gn$ G$la zc]lNY m` àG$ld R=lzaD& 

b) zYIv©T ]z³UXl`l fn G$}q`Wlf& 

c) @lzWG$la G$l mZ`L¶ WnUn gþD Af G$la G$r BmaãX `LYl@l{ m` àG$ld R=lzaD& 

d) `qzUG$la G$r zcdneUlD± zazHD&          

 

  



   

Q6) zYåYzazHU IÚ G$l zgÝWq ‘{ @YvclW G$rzND& (12) 

 In India a noble civilization began atleast 3500 years ago. This civilization still 

survives down to the present day. Long before Greece and Rome were heard of 

in history the Vedas and Upanishads had been composed. The greatest Buddhist 

movement which transformed all Asia had its origin and early growth before the 

age of the grew. Pericles at Anthes. It is no empty phrase therefore to call India 

the mother among the civilizations of the world Roman and Greek civilizations 

have passed away. Egypt has perished utterly. But India has not perished.  
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     Answer any Fourofthe following. (4 × 10 = 40) 

Each question carries 10 marks 

 
        

Q1) Explain in detail about structure of the atmosphere. 
 Ðé™éÐ@þÆæÿ×ý °Æ>Ã×ýÐ@þ¬¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 
   

Q2) Give an account on the uses of forest resources and consequences due to 

deforestation. 
 ArÑ Ð@þ @̄þÆæÿ$Ë Äñý¬MæüP Eç³Äñý*VæüÐ@þ¬Ë$ Ð@þ$ÇÄ¶ý¬ Ð@þ¯@þ Ñ¯éÔ¶ý¯@þ… Ð@þË @̄þ MæüË$Væü$ 

ç³Ç×êÐ@þ*Ë¯@þ$ ™ðþËç³…yìþ. 
   

Q3) Define Succession and explain its process through hydrosere. 
 A¯@þ$“MæüÐ@þ$Ð@þ¬¯@þ$ °ÆæÿÓ_…_, A¯@þ“MæüÐ@þ$ Ñ«§é¯@þÐ@þ¬¯@þ$ f¯@þ A¯@þ$“MæüÐ@þ$… §éÓÆ> ÑÐ@þÇ… è̂þ…yìþ.  

   

Q4) Explain the role of individual in conservation of Natural resources. 
 çÜçßýf Ð@þ¯@þÆæÿ$ËçÜ…Ææÿ„æü×ýÌZ Ð@þÅMìü¢ Äñý¬MæüP ´ë{™èþ¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 

 

Q5) Impact of mining on environment. Discuss. 
 ç³Æ>ÅÐ@þÆæÿ×ý… Oò³ Væü¯@þ$Ë {™èþÐ@þÓMæü… Ð@þË¯@þ {ç³¿êÐ@þ… è̂þÇa…^èþ…yìþ.  

 

Q6) Explain the following. 
 D “Mìü…¨ Ðésìý° ÑÐ@þÇ…^èþ…yìþ 
 a) Energy flow. 
  Ô¶ýMìü¢ {ç³Ðéçßý… 
 b) Bio- Geo – Chemical cycles. 
  iÐ@þ&¿oÐ@þ$ ÆæÿÝëÄ¶ý$¯@þ Ð@þËÄ¶ý*Ë$ 

 

       
Q7) Why India is called as mega diversity region. 
 ¿êÆæÿ™èþ §óþÔ¶ýÐ@þ¬¯@þ$ Ððþ$V> OÐðþÑ§æþÅ §óþÔ¶ýÐ@þ¬Væü G…§æþ$Mæü$ í³Ë$Ýë¢Ææÿ$.  

 

Q8) Explain population characteristics. 

f¯é¿¶ý Ë„æü×êË¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 



   

 

SECTION –B 

     Answer any Three of the following. (3 × 20 = 60) 

 

 

Q9) Write the aims and multidisciplinary nature of environmental studies.  

ç³Æ>ÅÐ@þÆæÿ×ý A«§æþÅÄ¶ý$¯@þ… Äñý¬MæüP Ë„> ÅË$Ð@þ$ÇÄ¶ý¬ ºçßý$Ð@þ¬Q çÜÓ¿êÐ@þÐ@þ¬¯@þ$ ™ðþËç³…yìþ. 

Q10) Explain structure and functions of an ecosystem.  

BÐ@þÆæÿ×ý Ð@þÅÐ@þçÜ¦ Äñý¬MæüP °Æ>Ã×ýÐ@þ¬ Ð@þ$ÇÄ¶ý¬ Ñ«§æþ$Ë¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 

Q11) Give an account on the water resources and their conservation.   

±sìý Ð@þ¯@þÆæÿ$Ë¯@þ$ Væü*Ça Ð@þ$ÇÄ¶ý¬ ±sìý çÜ…Ææÿ„æü×ý Ñ«§é¯éË¯@þ$ Væü*Ça ™ðþËç³…yìþ. 

Q12) Give an account on the wild life Protection act.  

Ð@þ¯@þÅ{́ ë×ý$Ë çÜ…Ææÿ„æü×ý ^èþrtÐ@þ¬ Væü*Ça ™ðþËç³…yìþ. 

Q13) Describe impact of population growth on environment and family planning.  

f¯é¿ê ò³Ææÿ$Væü$§æþË Ð@þË¯@þ ç³Æ>ÅÐ@þÆæÿ×ý… Oò³ {ç³¿êÐ@þÐ@þ¬ Ð@þ$ÇÄ¶ý¬ f¯é¿¶ý °Ä¶ý$…{™èþ×ý Væü*Ça 

ÑÐ@þÇ…^èþ…yìþ. 

Q14)Explain the following. 
 D “Mìü…¨ Ðésìý° ÑÐ@þÇ…^èþ…yìþ 
 a) Global Warming 
  VøÏºÌŒý ÐéÇÃ…VŠü 
 b) Acid Rains 
  BÐ@þ$Ï Ð@þÆæÿÛÐ@þ¬Ë$ 

 

*** 
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BANKING AND FINANCIAL SYSTEMS  

Time : 3 Hours                                                           Maximum Marks :70 

     SECTION - A  

     Answer any Four of the following. (4 × 3 = 12) 
        

Q1) Nature of Commercial Banks. 
 Ðé×ìýfÅ »êÅ…Mæü$Ë çÜÓ¿êÐ@þÐ@þ¬. 
  

Q2)  Debit cards. 
 yðþ¼sŒý M>Ææÿ$zË$.  
   

Q3)  Differences between cooperative banks and Joint Stock Banks. 

 çÜçßýM>Ææÿ »êÅ…Mæü$Ë$ Ð@þ$ÇÄ¶ý¬ “gêÆÿ¬…sŒý ÝëtMŠü »êÅ…Mæü$”Ë Ð@þ$«§æþÅVæüË ™óþyéË$. 
   

Q4) Role of Exchange Banks. 
 Ñ°Ð@þ$Ä¶ý$ »êÅ…Mæü$Ë ´ë{™èþ. 
  

Q5) Capital market reforms in India. 
 ¿êÆæÿ™ŒþÌZ Ð@þÊË«§æþ¯@þ Ð@þ*ÆðÿPsŒý çÜ…çÜPÆæÿ×ýË$. 
  

Q6) Insurance of Bank Deposits. 
 »êÅ…Mæü$ yìþ´ëhrÏ ÁÐ@þ*. 
  

Q7) Dishonour of Cheque. 
 ^ðþMæü$P °Æ>§æþÆæÿ×ý. 
  

Q8) Lien. 
 Î¯Œþ (MæüÍWÄ¶ý¬…yæþ$ çßýMæü$P) 
 
     SECTION – B 

     Answer any Two of the following. (2 × 8 = 16) 

   

Q9) Describe the merits and demerits of Branch banking. 
 Ô>Rê »êÅ…Mìü…VŠü Væü$×ý§øçÙÐ@þ¬Ë$ ÑÐ@þÇ…^èþ$Ð@þ¬. 
 
Q10) List out the functions and problems of RRBs. 

 RRB Ë Ñ«§æþ$Ë$ Ð@þ$ÇÄ¶ý¬ çÜÐ@þ$çÜÅË¯@þ$ ™ðþË$ç³#Ð@þ¬. 
 



   

Q11) Explain the characteristics of Indian Money Market. 
 ¿êÆæÿ™èþ {§æþÐ@þÅ Ð@þ*ÆðÿPsŒý Ë„æü×ýÐ@þ¬Ë¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 
 

Q12) What do you understand by the word Sound Lending Policies? Explain. 

 “Ð@þ$…_ º¬×ý Ñ«§é¯@þÐ@þ¬” A¯@þ$ ç³§æþÐ@þ¬¯@þ$ HÑ«§æþÐ@þ¬V> AÆæÿ®Ð@þ¬ ^óþçÜ$Mæü$…§æþ$Ð@þ#? 
ÑÐ@þÇ…^èþ$Ð@þ¬. 

 

     SECTION – C 

     Answer any Three of the following. (3 × 14 = 42) 

 

Q13) List out various types of Banks and Banking Systems with their features. 
 ÑÑ«§æþ ÆæÿMæüÐ@þ¬Ë »êÅ…Mæü$Ë$ Ð@þ$ÇÄ¶ý¬ »êÅ…Mìü…VŠü Ñ«§é¯@þÐ@þ¬Ë¯@þ$ Ðésìý Ë„æü×ýÐ@þ¬Ë™ø 

™ðþË$ç³#Ð@þ¬. 
 

Q14) Explain about ICICI and give a review on its performance and major 

achievements. 

 ICICI ¯@þ$ ÑÐ@þÇçÜ*¢, §é° ç³°¡Ææÿ$ Ð@þ$ÇÄ¶ý¬ Ýë«̈ …_¯@þ {ç³«§é¯@þ ÑfÄ¶ý$Ð@þ¬Ë¯@þ$ 
çÜÒ$„ìü…ç³#Ð@þ¬. 

 

Q15) What is the concept of Merchant Banking? Enumerate various financial services 

provided by Merchant Banking. 

 “Ð@þ$Æðÿa…sŒý »êÅ…Mìü…VŠü” A¯@þ$ ¿êÐ@þ¯@þ HÑ$? Ð@þ$Æðÿa…sŒý »êÅ…Mìü…VŠü A… ç̈Ü$¢̄ @þ² ÑÑ«§æþ Ñ™èþ¢ 
õÜÐ@þË¯@þ$ ÑÔ¶ý©MæüÇ…^èþ$Ð@þ¬. 

 

Q16) Define Customer? Also state the special relationship between banker and 

customer. 
 Rê™é§éÆæÿ$° °ÆæÿÓ_…ç³#Ð@þ¬ Ð@þ$ÇÄ¶ý¬ »êÅ…MæüÆæÿ$&Rê™é§éÆæÿ$ Ð@þ$«§æþÅVæüË {ç³™óþÅMæü 

çÜ…º…«§æþÐ@þ¬¯@þ$ ™ðþË$ç³#Ð@þ¬. 
 

Q17) Explain different types of Loans and advances granted by a modern banker. 

 B«§æþ$°Mæü »êÅ…MæüÆæÿ$ A… ç̈Ü$¢̄ @þ² ÑÑ«§æþ ÆæÿMæüÐ@þ¬ËÆÿ¬¯@þ º¬×ýÐ@þ¬Ë$ Ð@þ$ÇÄ¶ý¬ ‘AyéÓ¯ŒþÞ’Ë¯@þ$ 
ÑÐ@þÇ…^èþ$Ð@þ¬. 

 

Q18) Write a critical note on Nationalisation and its major achievements and failures. 
 gê¡Ä¶ý$MæüÆæÿ×ý Oò³ °Õ™èþÐ@þ¬V> ÐéÅçÜÐ@þ¬ {ÐéçÜ*¢ {ç³«§é¯@þ ÑfÐ@þ¬Ë$ Ð@þ$ÇÄ¶ý¬ 

Aç³fÄ¶ý$Ð@þ¬Ë$ Væü*Ça ™ðþË$ç³#Ð@þ¬.ý 

���� 
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     SECTION - A  

     Answer any Four of the following. (4 × 3 = 12) 
        

Q1) Meaning and concept of Royalty. 

 Æ>Ä¶ý$Ît A¯@þV>¯óþÑ$? ¿êÐ@þ¯@þ. 
  

Q2)  Salient features of Hire purchase. 

 A§ðþª Mö¯@þ$VøË$ ç³§æþ®† Ð@þ¬QÅ Ë„æü×êË$. 
   

Q3)  What is Single Entry System? 

 J…sìý ç³§æþ$ª Ñ«§é¯@þ… A @̄þV>¯óþÑ$? 

   

Q4) Features of Receipts and Payments account. 

 Ð@þçÜ*â¶ý$å & ^ðþÍÏ…ç³#Ë$ Rê™é Ë„æü×êË$. 
  

Q5) Legal Provisions in the absence of Partnership Deed. 

 ¿êVæüÝëÓÐ@þ$Å Jç³µ…§æþÐ@þ¬ Ìôý¯@þç³šyæþ$ ¯éÅÄ¶ý$ç³ÆæÿOÐðþ$¯@þ A…Ô¶ýÐ@þ¬Ë$. 
  

Q6) Goodwill Treatment at admission of a partner. 

 ¿êVæüçÜ$¢° {ç³ÐóþÔ¶ý… çÜ…§æþÆæÿÂ…ÌZ Væü$yŠþÑÌŒý ÌñýMæüP Mæüsôýt Ñ«§é¯@þÐ@þ¬. 
  

Q7) Meaning and objectives of Opening a branch. 

 {»ê…_ HÆ>µr$ ^óþÄ¶ý$yæþ…ÌZ VæüË «§óþÅÄ¶ý*Ë$ Ð@þ$ÇÄ¶ý¬ ¿êÐ@þÐ@þ¬. 
  

Q8) Features of Equity Shares. 

 DMìüÓsîý ÐésêË Ë„æü×êË$. 

  

  



   

SECTION – B 

     Answer any Two of the following. (2 × 8 = 16) 
    

Q9) On 1-01-2015 Morarjee chemicals bought a machine on Hire purchase system. 

The cash price of the machine was Rs. 2,23,500 and payment was to be made             

Rs. 60,000 on signing the agreement of the balance in three instalments of               

Rs. 60,000 each, at the end of each year. The rate of interest charged by the 

vendor is 5% per annum. The depreciation is calculated at 10% annually on the 

diminishing balance of the asset. Make Ledger accounts in the books of 

Morarjee chemicals.  
 1&01&2015 ™óþ©¯@þ Ððþ¬Æ>Èj MðüÑ$MæüÌŒýÞ JMæü Ä¶ý$…{™é°² A§ðþª Mö¯@þ$VøË$ ç³§æþ®†Oò³ Mö¯@þ$VøË$ 

^óþòÜ¯@þ$. Ä¶ý$…{™èþÐ@þ¬ Äñý¬MæüP ¯@þVæü§æþ$ «§æþÆæÿ Ææÿ*. 2,23,500, ^ðþÍÏ…ç³#Ë$ “Mìü…¨ Ñ«§æþÐ@þ¬V> 
MæüË§æþ$. A“WÐðþ$…r$ Oò³ çÜ…™èþMæüÐ@þ¬ ^óþíÜ¯@þç³šyæþ$ Ææÿ*. 60,000 Ð@þ$ÇÄ¶ý¬ Ñ$WÍ¯@þ Ððþ¬™èþ¢Ð@þ¬ 
Ð@þÊyæþ$ ÐéÆÿ¬§éËÌZ Ææÿ*. 60,000 ^öç³š¯@þ {ç³† çÜ…Ð@þ™èþÞÆæÿ… yìþòÜ…ºÆæÿ$ 31 ™óþ©¯@þ 
^ðþÍÏ…^èþÐ@þÌñý¯@þ$. Ð@þyîþz çÜ…Ð@þ™èþÞÆ>°Mìü 5% ^öç³š¯@þ AÑ$Ã¯@þ Mæü…ò³± ^éÇj ^óþÄ¶ý¬¯@þ$. Ä¶ý$…{™èþÐ@þ¬ 
ÑË$Ð@þ ™èþVæü$Y™èþ$¯@þ² ç³§æþ®†ÌZ çÜ…Ð@þ™èþÞÆ>°Mìü 10% ^ö‘‘ @̄þ ™èþÆæÿ$Væü$§æþË  ÌñýMæüP MæürtÐ@þÌñý¯@þ$. Ððþ¬Æ>Èj 
MðüÑ$MæüÌŒýÞ ç³#çÜ¢M>ËÌZ AÐ@þçÜÆæÿOÐðþ$¯@þ Rê™éË$ ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ. 

 
Q10) Nirmala Traders maintains their books under single entry system. Prepare 

statement of affairs and find profit / loss for the year ending 31-12-2017. 

 Particulars   31-12-16 31-12-17 

 Fixed assets  80,000 1,10,000 

 Current assets  32,000 58,000 

 Current Liabilities 40,000 25,000 

 Additional information : 

a) Additional capital introduced during the year Rs. 15,000. 

b) Withdrawals from the business was Rs. 4,000. 

c) Depreciation on Fixed assets at 10%. 
 °ÆæÿÃÌê {sôýyæþÆŠÿÞ ÐéÆæÿ$ J…sìý ç³§æþ$ª Ñ«§é¯@þ…ÌZ ™èþÐ@þ$ AMú…sŒý ç³#çÜ¢M>Ë$ {ÐéÄ¶ý¬^èþ$¯é²Ææÿ$. 

“Mìü…¨ çÜÐ@þ*^éÆæÿ… B«§éÆæÿ…V> Ð@þÅÐ@þàÆæÿ °Ðóþ¨MæüË$ ™èþÄ¶ý*Ææÿ$ ^óþíÜ 31&12&2017 ™óþ©™ø 
A…™èþÐ@þ$Äôý$Å çÜ…Ð@þ™èþÞÆ>°Mìü Ìê¿¶ý¯@þÚëtË$ Mæü¯@þ$MøP…yìþ. 

 ÑÐ@þÆ>Ë$   31&12&16 31&12&17 
 íÜ¦Ææÿ BçÜ$¢Ë$   80,000 1,10,000 
 ^èþÆæÿ BçÜ$¢Ë$  32,000 58,000 
 ^èþÆæÿ Aç³šË$   40,000 25,000 
 A§æþ¯@þç³# çÜÐ@þ*^éÆæÿ… : 

a) çÜ…Ð@þ™èþÞÆæÿ M>Ë…ÌZ çÜÐ@þ$Mæü*Çā @þ A§æþ¯@þç³# Ð@þÊË«§æþ¯@þ… Ææÿ*. 15,000. 
b) ÐéÅ´ëÆæÿ… @̄þ$…yìþ ¡çÜ$Mö¯@þ² Ý÷…™èþ ÐéyæþM>Ë$ Ææÿ*. 4,000. 
c) íÜ¦Ææÿ BçÜ$¢ËOò³ 10% ™èþÆæÿ$Væü$§æþË MæüË§æþ$. 

Q11) A and B were equal partners in a business. Their balance sheet as follows : 

 Liabilities   Rs. Assets Rs. 

 A’s Capital  1,00,000 Buildings 90,000 

 B’s Capital  80,000 Machinery 45,000 



   

 Profit & Loss A/c. 10,000 Debtors 23,000 

 Creditors   22,000 Closing stock 42,000 

      Cash 12,000 

     2,12,000  2,12,000 

 Adjustments : 

 C was admitted into business for 
1

3
rd share on the following terms. 

 a) Mr. C shall bring cash for his capital Rs. 90,000 and Rs. 20,000 for good 

will. 

 b) Write off 10% depreciation on machinery. 

 c) Bad debtors on debtors at 5%. 

 d) The closing stock was revalued at Rs. 50,000. 

 Prepare necessary Ledger accounts and New balance sheet of A, B and C. 

 A  Ð@þ$ÇÄ¶ý¬ B A¯óþ Ð@þÅMæü$¢Ë$ JMæü ÐéÅ´ëÆæÿ…ÌZ çÜÐ@þ*¯@þ ¿êVæüçÜ$¢Ë$. ÐéÇ BíÜ¢ Aç³šË ç³sîýt “Mìü…¨ 
Ñ«§æþÐ@þ¬V> MæüË§æþ$. 

 Aç³šË$   Ææÿ*. BçÜ$¢Ë$ Ææÿ*. 
 A  Ð@þÊË«§æþ¯@þ…  1,00,000 ¿¶ýÐ@þ¯éË$ 90,000 
 B  Ð@þÊË«§æþ¯@þ…  80,000 Ä¶ý$…{™éË$ 45,000 
 Ìê¿¶ý @̄þÚëtË Rê™é 10,000 º¬×ý“VæüçÜ$¢Ë$ 23,000 
 º¬×ý§é™èþË$  22,000 Ð@þ¬W…ç³# çÜÆæÿ$Mæü$ 42,000 
       ¯@þVæü§æþ$ 12,000 
      2,12,000  2,12,000 
 çÜÆæÿ$ª»êr$Ï :& 

 C A¯óþ Ð@þÅMìü¢ 1
3

Ð@þ Ð@þ…™èþ$ Ìê¿¶ý ¯@þÚëtËMæü$ “Mìü…¨ çÙÆæÿ™èþ$ËMæü$ ÌZºyìþ “Mö™èþ¢ ¿êVæüçÜ$¢°V> 
^óþÆæÿ§æþË^ðþ¯@þ$. 
a) C ™èþ¯@þ Ð@þÊË«§æþ¯@þ… MøçÜ… Ææÿ*. 90,000Ë$ Ð@þ$ÇÄ¶ý¬ Væü$yŠþ ÑÌŒý MøçÜ… Ææÿ*. 20,000 

¯@þVæü§æþ$ çÜÐ@þ$Mæü*Ææÿa Ð@þÌñý¯@þ$. 
b) Ä¶ý$…{™éËOò³ 10% ™èþÆæÿ$Væü$§æþË. 
c) º¬×ý“VæüçÜ$¢ËOò³ 5% Æ>° »êMîüË$. 
d) Ð@þ¬W…ç³# çÜÆæÿ$Mæü$ ÑË$Ð@þ Ææÿ*. 50,000Ë$V> ç³# @̄þÆæÿ*ÃÌêÅ…Mæü¯@þ ^óþíÜÇ. 
AÐ@þçÜÆæÿOÐðþ$¯@þ Rê™éË$ ™èþÄ¶ý*Ææÿ$ ^óþíÜ, A, B Ð@þ$ÇÄ¶ý¬ C Äñý¬MæüP “Mö™èþ¢ BíÜ¢&Aç³šË ç³sîýt 
™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ. 

  

Q12) From the following information, you are required to prepare Tirumala Branch 

a/c in the books of Vijayawada Head Office for the year ending 31-12-2017 

 1-01-2017 

 Opening stock (at cost) 1,00,000 

        ”      Debtors 10,000 

        ”      Petty cash 500 

        ”      Creditors 5,000 



   

        ”      Furniture 12,000 

 Goods sent to the Branch  (at cost) 3,00,000 

 Goods returned by Brach (at cost) 10,000 

 Cheque sent to the Branch for expenses 30,000 

 Cash received from Debtors 3,40,000 

 Cash sales   60,000 

 31-12-2017 

 Closing stock (at cost) 1,10,000 

        ”    Debtors  80,000 

        ”    Petty cash 300 

        ”    Furniture 10,000 

        ”    Creditors 4,000 
 ¨Væü$Ð@þÆÿ¬_ā @þ çÜÐ@þ*^éÆæÿ… B«§éÆæÿ…V> ÑfÄ¶ý$Ðéyæþ {ç³«§é¯@þ M>Æ>ÅËÄ¶ý$… ç³#çÜ¢M>ËÌZ 

†Ææÿ$Ð@þ$Ë {»ê…_ Rê™é 31&12&2017 ™óþ©™ø A…™èþÐ@þ$Äôý$Å çÜ…Ð@þ™èþÞÆ>°Mìü ™èþÄ¶ý*Ææÿ$ 
^óþÄ¶ý$…yìþ. 

 1&01&2017 
 {́ ëÆæÿ…¿¶ý çÜÆæÿ$Mæü$ °ËÓ (QÈ§æþ$Oò³) 1,00,000 
       ”    º¬×ý“VæüçÜ$¢Ë$ 10,000 
       ”    _ËÏÆæÿ @̄þVæü§æþ$ 500 
       ”    º¬×ý§é™èþË$ 5,000 
       ”    çœÈ²̂ èþÆæÿ$  12,000 
 {»ê…_Mìü ç³…í³¯@þ çÜÆæÿ$Mæü$ (QÈ§æþ$Oò³) 3,00,000 
 {»ê…_ @̄þ$…yìþ Ðéç³çÜ$V> Ð@þ_ā @þ çÜÆæÿ$Mæü$ (QÈ§æþ$Oò³) 10,000 
 QÆæÿ$aË MøçÜ… {»ê…_Mìü ç³…í³¯@þ ^ðþMæü$P 30,000 
 º¬×ý“VæüçÜ$¢Ë ¯@þ$…yìþ ¯@þVæü§æþ$ Ð@þçÜ*Ë$ 3,40,000 
 ¯@þVæü§æþ$Oò³ AÐ@þ$ÃM>Ë$ 60,000 
 

 
 31&12&2017 
 Ð@þ¬W…ç³# çÜÆæÿ$Mæü$ (QÈ§æþ$ Oò³) 1,10,000 
 º¬×ý“VæüçÜ$¢Ë$  80,000 
 _ËÏÆæÿ ¯@þVæü§æþ$  300 
 çœÈ²̂ èþÆæÿ$   10,000 
 º¬×ý§é™èþË$  4,000 
 
  



   

SECTION – C 

     Answer any Three of the following. (3 × 14 = 42) 

 

Q13) B.H.P.V. company has patented to make vessel and granted the right to 

manufacture and market the same to Ashoka equipment limited under a licence, 

subject to the following terms : 

a) A royalty of Rs. 2 to be paid for each vessel sold, 

b) A minimum payment of Rs. 10,000 per annum; 

c) The right to deduct in the two following years any excess of the minimum 

payment over the calculated royalties in any year 

The number of vessels sold were : 

   2014 4,000 

   2015 4,500 

   2016 5,400 

   2017 6,500 

 Show the Journal Entries in the books of Ashoka Equipment Limited. 

 BHPV Mæü…ò³± ÐðþfË$Þ ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$yé°Mìü õ³sñý…r$ çßýMæü$PË¯@þ$ MæüÍYÄ¶ý¬¯@þ²̈ . ÐðþfÌŒýÞ̄ @þ$ 
™èþÄ¶ý*Ææÿ$ ^óþíÜ AÐ@þ$Ãyé°Mìü AÚùM> GMìüÓ‹³Ððþ$…r$ ÍÑ$sñýyŠþMæü$ “Mìü…¨ çÙÆæÿ™èþ$ËOò³ OÌñýòÜ¯@þ$Þ̄ @þ$ 
Ð@þ$…lÆæÿ$ ^óþíÜ¯@þ¨. 
a) AÑ$Ã @̄þ {ç³† ÐðþfË$Mæü$ Ææÿ*. 2/& Æ>Ä¶ý$Ît. 
b) Mæü±çÜç³# A§ðþª çÜ…Ð@þ™èþÞÆ>°Mìü 10,000. 
c) H çÜ…Ð@þ™èþÞÆæÿ…ÌZ Ō ðþ¯é ™èþÆæÿ$Væü$ Ððþ¬™èþ¢… HÆæÿµyìþ¯@þç³#yæþ$ Ð@þ$ÆæÿçÜsìý Æðÿ…yæþ$ çÜ…Ð@þ™èþÞÆ>Ë 

Ñ$Væü$Ë$ Æ>Ä¶ý$ÎtË™ø ¿¶ýÈ¢ ó̂þçÜ$Mö¯@þÐ@þÌñý¯@þ$. 

 
 AÑ$Ã @̄þ ÐðþfÌŒýÞ çÜ…QÅ 
   2014 4,000 
   2015 4,500 
   2016 5,400 
   2017 6,500 
 AÚùM> GMìüÓ‹³Ððþ$…r$ ÍÑ$sñýyŠþ ç³#çÜ¢M>ËÌZ _sêt ç³§æþ$ªË¯@þ$ {ÐéÄ¶ý$…yìþ. 
  
Q14) From the following Receipts and payments a/c for the year ending 31-12-2017 of 

Mahatma Gandhi Charitable Hospital, Prepare Income and Expenditure a/c and 

the balance sheets. 

 Receipts   Rs. Payments Rs. 

 1-01-2017    31-12-17 



   

 To Opening Bank balance 1,40,000 By Staff Salaries 65,000 

 31-12-2017   ” Expenses for medicines 1,10,000 

 To Subscriptions 80,000 ” Food for patients 85,000 

 ” Donations  1,50,000 ” Furniture 20,000 

 ” Life membership 1,00,000 ” Miscellaneous expenses 10,000 

 ” Legacies  2,00,000 ” X-Ray plant 2,00,000 

 ” Sale of tickets 30,000 ” Bank a/c. 2,10,000 

      7,00,000    7,00,000 

 Additional information : 

a) Outstanding subscriptions for the current year was Rs. 5,000 and 

subscriptions received in advance Rs. 3,000. 

b) Outstanding salaries Rs. 15,000. 

c) Depreciation on X-ray plant at 10% p.a. 

 ¨Væü$Ð@þ Æÿ¬_ā @þ Ð@þ$à™éÃ V>…«̈  ^éÇrº$ÌŒý àçÜµrÌŒý Äñý¬MæüP Ð@þçÜ*Ë$ ^ðþÍÏ…ç³#Ë$ Rê™é 
31&12&2017 B«§éÆæÿ…V>, B§éÄ¶ý$ & Ð@þÅÄ¶ý*Ë Rê™é Ð@þ$ÇÄ¶ý¬ BíÜ¢&Aç³šË ç³sîýtË$ 
™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ. 

 Ð@þçÜ*â¶ý$å   Ææÿ* ^ðþÍÏ…ç³#Ë$ Ææÿ*. 
 1&01&2017   31&12&2017 
 To {́ ëÆæÿ…¿¶ý »êÅ…Mæü$ °ËÓ 1,40,000 By íÜº¾…¨ i™éË$ 65,000 
 31-&12&2017   ” Ð@þ$…§æþ$Ë QÆæÿ$a 1,10,000 
 To ^èþ…§éË$  80,000 ” õ³òÙ…rÏMæü$ BàÆæÿ… 85,000 
 ” ÑÆ>âêË$  1,50,000 ” çœÇ²̂ èþÆæÿ$ 20,000 
 ” iÑ™èþ çÜ¿¶ý$ÅË ^èþ…§é 1,00,000 ” _ËÏÆæÿ QÆæÿ$aË$ 10,000 
 ” ÐéÆæÿçÜ™éÓË$  2,00,000 ” X-ray Ä¶ý$…{™èþÐ@þ¬ 2,00,000 
 ” sìýMðüPr$Ï AÐ@þ$ÃMæüÐ@þ¬ 30,000 ” »êÅ…Mæü$ÌZ ¯@þVæü§æþ$ 2,10,000 
      7,00,000   7,00,000 
 

 
 A§æþ¯@þç³# çÜÐ@þ*^éÆæÿ… : 

a)  D çÜ…Ð@þ™èþÞÆ>°Mìü Æÿ¬…M> Ð@þçÜ*Ë$ M>Ð@þËíÜ¯@þ ^èþ…§éË$ Ææÿ*. 5,000 Ð@þ$ÇÄ¶ý¬ 
Ð@þ¬…§æþ$ çÜ…Ð@þ™èþÞÆ>°Mìü ð̂þ…¨¯@þ è̂þ…§éË$ Ð@þçÜ*OÌñý¯@þÑ Ææÿ*. 3,000. 

b) ^ðþÍÏ…^èþÐ@þËíÜ¯@þ i™éË$ Ææÿ*. 15,000. 
c) X-plant Oò³ 10% (çÜ…Ð@þ™èþÞÆ>°Mìü) ™èþÆæÿ$Væü$§æþË ÌñýMæüPMæürtÐ@þÌñý¯@þ$. 

  

Q15) On 31-12-2016 the balance sheet of X, Y and Z showed as under : 

 Liabilities   Rs. Assets Rs. 

 Sundry Creditors 12,000 Buildings 20,000 

 Reserve fund  10,000 Investments 10,000 

 X Capital   20,000 Debtors 5,000 

 Y      ”   8,000 Bills receivable 4,000 

 Z      ”   7,000 Closing stock 7,000 

      Bank 11,000 



   

     57,000  57,000 
 The partnership deed provides that the profit be shared in the ratio of 2 : 1 : 1 

and that in the event of the death of a partner, their executors are entitled to be 
paid out, 
a) The capital of the partner’s credit at the date of the last balance sheet. 
b) The Partner’s proportion of reserves. 
c) The Partner’s proportion of profits to the date of death on the average profit 

of the last 3 completed years, plus 10 percent and 
d) By way of goodwill, the Partner’s Proportion of the total profits for the 3 

preceeding years. 
e) The net profits for the last three years were : 2014 – Rs. 8,000; 2015 –                

Rs. 10,000 and 2016 – Rs. 6,000. 
f) Mr. Z died on 01-04-2016. He had withdrawn Rs. 2,000 to the date of his 

death. 
g) The investments were sold at par and Z’s executors were paidoff. 

Prepare Z’s capital a/c that of his executors. 
31&12&2016 ™óþ©¯@þ X, Y Ð@þ$ÇÄ¶ý¬ Z Ë ¿êVæüÝëÓÐ@þ$Å BíÜ¢&Aç³šË ç³sîýt “Mìü…¨ Ñ«§æþÐ@þ¬V> 
E¯@þ²̈ . 
Aç³šË$  Ææÿ*. BçÜ$¢Ë$ Ææÿ*. 
º¬×ý§é™èþË$ 12,000 ¿¶ýÐ@þ¯éË$ 20,000 
ÇfÆæÿ$Ó°«̈   10,000 ò³r$tºyæþ$Ë$ 10,000 
X Ð@þÊË«§æþ¯@þ… 20,000 º¬×ý“VæüçÜ$¢Ë$ 5,000 
Y  Ð@þÊË«§æþ¯@þ… 8,000 Ð@þçÜ*Ë$ çßý$…yîþË$ 4,000 
Z  Ð@þÊË«§æþ¯@þ… 7,000 çÜÆæÿ$Mæü$ °ËÓ 7,000 
    »êÅ…Mæü$ 11,000 
   57,000  57,000 

 ¿êVæüÝëÓÐ@þ$Å Jç³µ…§æþÐ@þ¬ {ç³M>Ææÿ… ÐéÆæÿ$ 2 : 1 : 1 °çÙµ†¢ÌZ Ð@þÆæÿ$çÜV> Ìê¿êË$ 
ç³…^èþ$Mö…sêÆæÿ$. ¿êVæüçÜ$¢yæþ$ Ð@þ$Ææÿ×ìý…_ @̄þç³#yæþ$, ÐéÆæÿçÜ$ËMæü$ “Mìü…¨ Ñ«§æþ…V> ^ðþÍÏ…ç³#Ë$ 
fÆæÿ$ç³#™éÆæÿ$. 
a) BQÇ BíÜ¢ Aç³šË ç³sîýtÌZ ¿êVæüçÜ$¢° Äñý¬MæüP Rê™é “MðüyìþsŒý °ËÓ. 
b) ÇfÆæÿ$Ó °«̈  Äñý¬MæüP °çÙµ†¢ {ç³M>ÆæÿÐ@þ¬ A™èþ° Ðésê Ððþ¬™èþ¢Ð@þ¬, 
c) Ìê¿¶ý @̄þÚëtËÌZ A™èþ° Ðésê °çÙµ†¢. çÜ…çÜ¦ Ìê¿¶ýÐ@þ¬; Ð@þÊyæþ$ çÜ…Ð@þ™èþÞÆ>Ë$ Ìê¿êË 

çÜÆ>çÜÇMìü 10% MæüË$ç³#Mö° °Ææÿ~Æÿ¬… è̂þÐ@þÌñý¯@þ$. 
d) çÜ…çÜ¦ Væü$yŠþÑÌŒý Mæü*yé 3 çÜ…Ð@þ™èþÞÆ>Ë çÜÆ>çÜÇ Ìê¿ê°² Væü$yŠþ ÑÌŒýV> ç³ÇVæü×ìý…^éÍ. 
e) Ð@þÊyæþ$ çÜ…Ð@þ™èþÞÆ>ËÌZ çÜ…çÜ¦ çÜ…´ë¨…_¯@þ Ìê¿êË$ D Ñ«§æþ…V> E¯@þ²Ñ. 

2014 & Ææÿ*. 8,000; 2015 & Ææÿ*. 10,000 Ð@þ$ÇÄ¶ý¬ 2016 & Ææÿ*. 6,000 MæüË§æþ$. 
f) Z A¯óþ Ð@þÅMìü¢ 1&04&2016 ™óþ©¯@þ Ð@þ$Ææÿ×ìý… ð̂þ¯@þ$. A™èþ° Ý÷…™èþ ÐéyæþM>Ë$ Ææÿ*. 2,000 

MæüËÐ@þ#. 
g) ò³r$tºyæþ$Ë$ Ð@þ¬Q ÑË$Ð@þMæü$ AÐ@þ$ÃM>Ë$ fÇí³, Z Äñý¬MæüP ÐéÆæÿçÜ$ËMæü$ Rê™é 

ç³ÇÚëPÆæÿÐ@þ¬ ^óþòÜ @̄þ$. 



   

Z  Äñý¬MæüP Rê™é ™èþÄ¶ý*Ææÿ$ ^óþíÜ, ÐéÆæÿçÜ$ËMæü$ ^ðþÍÏ…ç³#Ë$ fÆæÿç³…yìþ. 
      

Q16) From the following balances of Reliance Departmental store, Prepare 

Departmental Trading and Profit & Loss a/c for the year ending 31-12-2017 

 Debit balances  Rs. Credit balances Rs. 

 Opening stock :   Sales : 

 Department X 4,000 Department X 18,000 

           ”  Y 2,000 Department Y 14,000 

 Purchases : X 5,000 Creditors  5,000 

    Y 3,000 Closing Stock X 10,500 

 Carriage on purchase   Y 8,800 

    X 400 

    Y 100 

 

 Machinery : X 10,000 

    Y 6,000 

 Wages :  X 1,600 

    Y 400 

 Salaries :   2,000 

 Rent    1,800 

 Repairs to machinery 1,000 

 Debtors   3,000 

 Buildings   8,000  

 Additional information : 



   

a) Department X had 6 employees and Dept. Y 4 employees. 

b) Dept. X had 3 machines and Y 2 machines. 

c) Area of Building is occupied by Dept X and Y in the ratio of 2 : 1. 

d) Depreciate buildings at 10%. 

 ¨Væü$Ð@þ Æÿ¬_ā @þ çÜÐ@þ*^éÆæÿ… B«§éÆæÿ…V>, ÇËÄ¶ý$¯ŒþÞ yìþ´ëÆŠÿtÐðþ$…sŒý ÝùtÆŠÿ Äñý¬MæüP 

yìþ´ëÆŠÿtÐðþ$…rÌŒý Ð@þÆæÿ¢Mæü, Ìê¿¶ý @̄þÚëtË Rê™é 31&12&2017 ™óþ©™ø A…™èþÐ@þ$Äôý$Å çÜ…Ð@þ™èþÞÆ>°Mìü 

™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ. 

 yðþ¼sŒý °ËÓË$  Ææÿ*. “MðüyìþsŒý °ËÓË$ Ææÿ*. 

 {́ ëÆæÿ…¿¶ý çÜÆæÿ$Mæü$ °ËÓ :   AÐ@þ$ÃM>Ë$ : X 18,000 

 yìþ´ëÆŠÿtÐðþ$…sŒý X 4,000  Y 14,000 

    Y 2,000 º¬×ý§é™èþË$  5,000 

  

 Mö¯@þ$VøË$  X 5,000 Ð@þ¬W…ç³# çÜÆæÿ$Mæü$ X 10,500 

    Y 3,000  Y 8,800 

 Mö¯@þ$VøË$Oò³ ÆæÿÐé×ê X 400 

    Y 100 

 Ä¶ý$…{™éË$  X 10,000 

    Y 6,000 

 Ðóþ™èþ¯éË$  X 1,600 

    Y 400 

 i™éË$   2,000 

 A§ðþª    1,800 

 Ä¶ý$…{™èþ… Ð@þ$ÆæÿÐ@þ$Ã™èþ$¢Ë$  1,000 

 º¬×ý“VæüçÜ$¢Ë$  3,000 

 ¿¶ýÐ@þ¯éË$   8,000 

 A§æþ¯@þç³# çÜÐ@þ*^éÆæÿ… : 

a) yìþ´ëÆŠÿtÐðþ$…r$ X  6 E§øÅV>Ë$, yìþ´ëÆŠÿtÐðþ$…r$ Y 4 E§øÅVæü$Ë¯@þ$ MæüÍWÄ¶ý¬¯@þ²̈ . 



   

b) yìþ´ëÆŠÿtÐðþ$…r$ X  3 Ä¶ý$…{™éË$, Y 2 Ä¶ý$…{™éË @̄þ$ MæüÍWÄ¶ý¬¯@þ²̈ . 

c) X  Ð@þ$ÇÄ¶ý¬ Y yìþ´ëÆŠÿtÐðþ$…r$ ¿¶ýÐ@þ¯é°² 2 : 1 °çÙµ†¢ÌZ B“MæüÑ$…_Ä¶ý¬¯@þ²̈ . 

d) ¿¶ýÐ@þ¯éËOò³ 10% ™èþÆæÿ$Væü$§æþË MæüË§æþ$. 

  

  



   

Q17) Vasanta Vihar Company Limited offered 20,000 shares to the public of Rs. 100 

each, payable as follows : 

 On application  Rs. 40 

 On allotment  30 

 On first and final call 30 

 The Public applied for 15,000 shares only. All money due received. Pass Journal 

entries in the books of the Company. 
 Ð@þçÜ…™èþ ÑàÆŠÿ Mæü…ò³± ÍÑ$sñýyŠþ 20,000 ÐésêË$, Ðésê JMìüP…sìýMìü Ææÿ*. 100 ^öç³š¯@þ 

gêÈ ó̂þòÜ¯@þ$. ^ðþÍÏ…ç³# “Mìü…¨ Ñ«§æþÐ@þ¬V> MæüË§æþ$. 
 «§æþÆæÿRêçÜ$¢Oò³ Ææÿ*. 40 
 MóüsêÆÿ¬…ç³# Oò³ 30 
 Ððþ¬§æþsìý BQÇ í³Ë$ç³#Oò³ 30 
 gêÈ ^óþíÜ¯@þ Ððþ¬™èþ¢… ÐésêËÌZ 15,000 Ð@þ*{™èþÐóþ$ ^èþ…§é ^óþÄ¶ý$yæþOÐðþ$¯@þ¨. ¯@þVæü§æþ$ ç³NÇ¢V> 

Ð@þçÜ*ËÆÿ¬¯@þ¨. Mæü…ò³± ç³#çÜ¢M>ËÌZ AÐ@þçÜÆæÿOÐðþ$¯@þ ç³§æþ$ªË$ {ÐéÄ¶ý$…yìþ. 
 

Q18) Krishna Company Limited issued 1,000, 10% debentures of Rs. 500 each 

payable as 

 On application  Rs. 100 

 On allotment  250 

 On first and final call 150 

 The Public applied for 1,800 debentures. Applications for 800 debentures were 

accepted in full. Applicants for 400 debentures were allotted 200 debentures and 

the remaining was rejected. Pass Journal entries. 
 Mæü–Úë~ Mæü…ò³± ÍÑ$sñýyŠþ 1,000, 10% º¬×ýç³{™éË$ JMìüP…sìýMìü Ææÿ*. 500 Ë$ Ð@þ¬{̈ ™èþ 

Ð@þÊËÅ… VæüËÑ gêÈ ó̂þòÜ¯@þ$. ^ðþÍÏ…ç³#Ë$ “Mìü…¨ Ñ«§æþ…V> MæüË§æþ$ 
 «§æþÆæÿRêçÜ$¢Oò³ Ææÿ*. 100 
 MóüsêÆÿ¬…ç³# Ò$§æþ 250 
 Ððþ¬§æþsìý, BQÇ í³Ë$ç³# Ò$§æþ 150 
 {ç³fË ¯@þ$…yìþ 1,800 º¬×ýç³{™éË MøçÜ… «§æþÆæÿRêçÜ$¢Ë$ Ð@þ_ā @þÑ. Ð@þ_ā @þ ÐésìýÌZ 800 

«§æþÆæÿRêçÜ$¢ËMæü$ ç³NÇ¢V> 800 º¬×ýç³{™éË$ MóüsêÆÿ¬… ð̂þ¯@þ$. 400 «§æþÆæÿRêçÜ$¢ËMæü$ Ñ$WÍ¯@þ 
200 º¬×ýç³{™éË$ MóüsêÆÿ¬…^ðþ¯@þ$. Ñ$WÍ¯@þ «§æþÆæÿRêçÜ$¢Ë$ †ÆæÿçÜPÇ…^èþyæþOÐðþ$¯@þ¨. 
AÐ@þçÜÆæÿOÐðþ$¯@þ _sêt ç³§æþ$ªË$ {ÐéÄ¶ý$…yìþ. 
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Second Year 

QUANTITATIVE TECHNIQUES – II (Part – II) 

Time : 3 Hours                                                           Maximum Marks :70 

     SECTION - A  

     Answer any Four of the following. (4 × 3 = 12) 

D “Mìü…¨ Ðé°ÌZ HÐóþ° ¯éË$Væü$ {ç³Ô¶ý²ËMæü$ çÜÐ@þ*«§é¯@þÐ@þ¬Ë$ {ÐéÄ¶ý¬Ð@þ¬. 
        

Q1) Name the components of a time series and illustrate them with suitable example. 

 M>Ë“Ôóý×ìý A…Ô>Ë @̄þ$ ™ðþÍí³, Ðésìý° E§éçßýÇ…^èþ…yìþ. 
   

Q2)  Discuss various Types of Time series. Also state the utility of Time Series. 

 ÑÑ«§æþ ÆæÿM>Ë M>Ë“Ôóý×ý$Ë¯@þ$ ^èþÇa…^èþ…yìþ, M>Ë“Ôóý×ý$Ë Äñý¬MæüP Eç³Äñý*W™èþ¯@þ$ ™ðþËµ…yìþ. 
   

Q3)  What do you mean by Index Numbers? Explain its limitations. 

 çÜ*` çÜ…QÅË$ A @̄þV>¯óþÑ$? Ðésìý Äñý¬MæüP ç³ÇÑ$™èþ$Ë¯@þ$ ÑÐ@þÇ… è̂þ…yìþ. 
   

Q4) Distinguish between Unweighted and Weighted Index numbers. 

 ¿êÇ™èþ çÜ*` çÜ…QÅË$ Ð@þ$ÇÄ¶ý¬ Ýë«§éÆæÿ×ý çÜ*` çÜ…QÅË Ð@þ$«§æþÅVæüË ™óþyéÌôýÑ? 
  

Q5) What do you mean ‘Empiral’ Probability? 

 ‘G…í³ÇÄ¶ý*ÌŒý’ (Empiral) çÜ…¿êÐ@þÅ™èþ A¯@þV> ó̄þÑ$? 
  

Q6) Trace out various schools of thoughts on Probability. 

 çÜ…¿êÐ@þÅ™é ¿êÐ@þ¯@þËOò³ ÑÑ«§æþ A«§æþÅÄ¶ý$¯éË¯@þ$ ÐðþÍMìü ¡Ä¶ý$…yìþ. 
  

Q7) Integration by Substitution. 

 {ç³™éÅÐ@þ*²Ä¶ý$… §éÓÆ> çÜÐ@þ*MæüË¯@þÐ@þ¬. 
  

Q8) Write a short note on limitations of ‘Linear Programming’. 

 ‘Î°Ä¶ý$ÆŠÿ {́ ù“V>Ñ$…VŠü’ ç³ÇÑ$™èþ$ËOò³ Ëçœ¬ ÐéÅçÜ… {ÐéÄ¶ý$…yìþ. 

 

 



   

     SECTION – B 

     Answer any Two of the following. (2 × 8 = 16) 

D “Mìü…¨ Ðé°ÌZ HÆðÿ…yæþ$  {ç³Ô¶ý²ËOMðü¯é çÜÐ@þ*«§é¯@þÐ@þ¬Ë$ {ÐéÄ¶ý¬Ð@þ¬. 
 

Q9) From the data given below compute the index number by fisher, Also verify is it 

satisfies time reversal and Factor Reversal text. 
 ¨Væü$Ð@þ §æþ™é¢…Ô¶ýÐ@þ¬¯@þMæü$ íœçÙÆŠÿ B§æþÆæÿÞ çÜ*` çÜ…QÅ @̄þ$ Mæü¯@þ$Vö°, A¨ M>Ë ç³ÇÐ@þÆæÿ¢̄ @þ ç³È„æü 

Ð@þ$ÇÄ¶ý¬ M>ÆæÿM>Ë ç³ÇÐ@þÆæÿ¢̄ @þ ç³È„æü×ý º¬kÐ@þ# ç³Ææÿ$çÜ$¢…§æþ° °Ææÿ*í³…^èþ…yìþ.  

 1997 2002 

Items 
Ð@þçÜ$¢Ð@þ# 

Price 
«§æþÆæÿ 

Quantity 
ç³ÇÐ@þ*×ý… 

Price 
«§æþÆæÿ 

Quantity 
ç³ÇÐ@þ*×ý… 

P 4 74 6 82 

Q 10 125 8 140 

R 14 40 12 33 
 

 

Q10) Obtain the Straight line trend equation for the following data by the method of 

Least square. Also, estimate the sales for 2000. 
 ¨Væü$Ð@þ §æþ™é¢…Ô¶ýÐ@þ¬¯@þMæü$ Mæü°çÙt Ð@þÆ>YË ç³§æþ®† {ç³M>Ææÿ… çÜÆæÿâ¶ý ÆóÿRê {ç³Ð@þ–†¢° Mæü¯@þ$Vö¯@þ…yìþ. 

Year 
çÜ…Ð@þ™èþÞÆæÿ… 

1993 1995 1996 1997 1998 1999 2000 

Sales (in 

‘000 Rs.) 
AÐ@þ$ÃM>Ë$ 
(‘000 ËÌZ) 

140 144 160 152 168 176 180 

 2000 çÜ…Ð@þ™èþÞÆ>°Mìü V>¯@þ$ AÐ@þ$ÃM>Ë @̄þ$ A… è̂þ¯é ÐóþÄ¶ý$…yìþ.  

 

Q11) Find the differential coefficients of the following functions : 
 “Mìü…¨ ÐésìýMìü AÐ@þMæüË¯@þÐ@þ¬ ÌñýMìüP… è̂þ…yìþ. 

a) y = 5  b) y = 200 c) y = 2
3
 d) y = 3x

2
  

e) y = 2x. 

 

Q12) Determine the integral of the following functions w.r.t. x. 

a) x3
 + 5x2

 – 6x – 8  b) 
3

2

2

1 5
9x

x x
− + −  

c) 
7 3 2

4

4 3 5x x x

x

+ −
 d) 

2
1

x
x

 + 
 

 

e) 8 – 9x – x5
  f) (x2

 – 2)
2
 

 Oò³¯@þ CÐ@þÓºyìþ¯@þ functions ËMæü$ çÜÐ@þ*MæüË¯éË¯@þ$ Mæü¯@þ$Vö¯@þ…yìþ. 
      

  



   

SECTION – C 

     Answer any Three of the following. (3 × 14 = 42) 

D “Mìü…¨ Ðé°ÌZ HÐóþ° Ð@þÊyæþ$ {ç³Ô¶ý²ËMæü$ çÜÐ@þ*«§é¯@þÐ@þ¬Ë$ {ÐéÄ¶ý¬Ð@þ¬. 
 

Q13) Construct index numbers for the three years taking average price as the base. 
 Ð@þÊyæþ$ çÜ…Ð@þ™èþÞÆ>Ë çÜVæür$ «§æþÆæÿ¯@þ$ B«§éÆæÿ…V> ¡çÜ$Mö° çÜ*` çÜ…QÅË¯@þ$ ¨Væü$Ð@þ 

§æþ™é¢…Ô¶ýÐ@þ¬¯@þMæü$ ÌñýMìüP…^èþ…yìþ. 
                           Price per Quintal / 1 MìüÓ…sêÌŒýMæü$ «§æþÆæÿ 
  Year Wheat Cotton Oil 
  çÜ…Ð@þ™èþÞÆæÿÐ@þ¬ Vø«§æþ$Ð@þ$ {ç³†¢ ¯@þ*¯ðþ 

  2000 100 25 30 

  2001 90 20 25 

  2002 99 15 20    

Q14) From the following data, formulate the LP Model. 

  Product                                 Work Centre  Profit per Unit 

   A B C Rs. 

  P 1 hour 2 hours 3 hours 80 

  Q 3 hours 5 hours 1 hour 100 

  Total Capacity 720 hours 1800 hours  900 hours  
 CÐ@þÓºyìþ¯@þ §æþ™é¢…Ô¶ýÐ@þ¬¯@þMæü$ Î°Ä¶ý$ÆŠÿ {́ ù“V>Ñ$…VŠü ç³§æþ®†¯@þ Ýë«̈ …^èþ…yìþ. 
  Ð@þçÜ$¢Ð@þ#  ç³° Móü…{§éË$  Ä¶ýÊ°sŒý 1Mìü 
   A B C Ìê¿¶ý… (Ææÿ*‘‘) 
  P 1 Væü…r 2 Væü…rË$ 3 Væü…rË$ 80 
  Q 3 Væü…rË$ 5 Væü…rË$ 1 Væü…r 100 
  Ððþ¬™èþ¢… ÝëÐ@þ$Ææÿ®Å… 720 Væü…rË$ 1800 Væü…rË$ 900 Væü…rË$ 
       

Q15) A husband and wife appear in an interview for 2 vacancies in the same post. The 

probability of the husband’s selection is 1/7 and that of wife is 1/5. 

 Find the probability that, 

a) both of them will be selected, 

b) only one of them will be selected, 

c) None of them will be selected. 
 JMæü ¿¶ýÆæÿ¢ Ð@þ$ÇÄ¶ý¬ A™èþ° ¿êÆæÿÅ Æðÿ…yæþ$ RêäË$ E¯@þ² JMóü E§øÅV>°Mìü Ð@þ◊SMæü ç³È„æüMæü$ 

àfOÆðÿ¯éÆæÿ$. ¿¶ýÆæÿ¢ G…ç³MìüMæüMæü$ V>¯@þ$ 1/7 Ð@þ$ÇÄ¶ý¬ ¿êÆæÿÅ G…í³MæüMæü$ V>¯@þ$ 1/5 çÜ…¿êÐ@þÅ™èþ 
E¯@þ², 
a) CÆæÿ$Ð@þ#Ææÿ$¯@þ$ G…í³Mæü AVæü$rMæü$ (^óþÄ¶ý¬rMæü$) 
b) CÆæÿ$Ð@þ#ÇÌZ¯@þ$ JMæüÇ° G…í³Mæü ^óþÄ¶ý¬rMæü$. 
c) GÐ@þÇ± G…í³Mæü ^óþÄ¶ý$Mæü$…yæþ$rMæü$V>¯@þ$ çÜ…¿êÐ@þÅ™èþ @̄þ$ ÌñýMìüP… è̂þ…yìþ. 

 
Q16) Integrate the following parts w.r.t. x : 



   

a) ( )
2

Logx dx∫  b) 
( )2

1 1

log log
dx

x x

  
− 

  
∫  

c) 
( )2

1

xxe

x +∫   d) ( )2 2log x x a dx+ +∫  

 Oò³¯@þ CÐ@þÓºyìþ¯@þ ÐésìýMìü çÜÐ@þ*MæüË¯é°² Mæü¯@þ$Vö¯@þ…yìþ.  
 

Q17) One card is drawn from a Well-shuffled deck of 52 cards. Calculate the 

probability that the card will be 

a) An ace;  b) Not be an ace. 

 »êVæü$V> MæüÍí³¯@þ 52 M>Ææÿ$zË$ MæüÍW¯@þ õ³Mæü §æþÝë¢ ¯@þ$…_ JMæü M>Ææÿ$z̄ @þ$ ÐðþÍMìü ¡Ä¶ý$V> 

 a) JMæü BçÜ$ Ð@þ è̂þ$arMæü$ b) BçÜ$ Æ>Mæü$…yé E…yæþ$rMæü$  

 VæüË çÜ…¿êÐ@þÅ™èþ¯@þ$ Mæü¯@þ$Vö¯@þ…yìþ. 

 

Q18) Using the simplex method of LP. Solve the following problem : 

 Maximize Z = 5X1 – 2X2 + 3X3 VæüÈïÙt MæüÇ…^èþ…yìþ. 

 Subject to the constrains : 

  2X1 + 2X2 – X3 ≥ 2 

  3X1 – 4X2 ≤ 3 

  X2 + 3X3 ≤ 5 

  X1, X2, X3 ≥ 0 

 Oò³¯@þ CÐ@þÓºyìþ¯@þ çÜÐ@þ*^éÆæÿ… B«§éÆæÿ…V> íÜ…ò³ÏMŠüÞ ç³§æþ®†ÌZ LPP @̄þ$ Ýë«̈ …^èþ…yìþ.  

 
���� 
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Second Year 

FUNDAMENTALS OF COMPUTERS  
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     SECTION - A  

     Answer any Four questions. (4 × 3 = 12) 

 
        

Q1) Define RAM and ROM. 

 RAM  Ð@þ$ÇÄ¶ý¬ ROM ¯@þ$ °ÆæÿÓ_…^èþ…yìþ. 
   

Q2)  What are wild card characters? 
 OÐðþË$zM>Ææÿ$z MóüÆæÿMæütÆæÿ$Ë$ (A„æüÆ>Ë$) A @̄þV>¯óþÑ$? 

   

Q3)  List any two characteristics of computer. 
 Mæü…ç³NÅrÆæÿ$ Äñý¬MæüP HOÐðþ¯é Æðÿ…yæþ$ Ë„æü×êË¯@þ$ ™ðþËç³…yìþ. 
   

Q4) What are path specifications in DOS. 

 DOS ÌZ path specificationË$ A @̄þV>¯óþÑ$? 
  

Q5) What is Word Processing? 
 Ð@þÆæÿ$z {́ ùòÜíÜ…VŠü A¯@þV>¯óþÑ$? 
  

Q6) Define Flowchart? Explain about Flowchart symbols. 

 ¸ùÏ̂ éÆæÿ$t̄ @þ$ °ÆæÿÓ_…^èþ…yìþ. ¸ùÏ̂ éÆæÿ$t symbol Ë @̄þ$ Væü$Ç…_ ÑÐ@þÇ…^èþ…yìþ. 
  

Q7) How can you assign values to Variables? 
 ÐóþÇÄ¶ý$º$ÌŒýËMæü$ ÐóþË$ÅË¯@þ$ GÌê CÝë¢Ð@þ¬? 
  

Q8) Write an examples for Reading input. 

 input  ° GÌê Read ó̂þÝë¢Ððþ* E§éçßýÆæÿ×ýË @̄þ$ {ÐéÄ¶ý$…yìþ. 
  

     SECTION – B 

     Answer any two questions. (2 × 5 = 10) 

 
Q9) What are the elements of computers? 
 Mæü…ç³NÅrÆæÿÏ Äñý¬MæüP ¿êVæüÐ@þ¬Ë$ HÑ? 
 
  

 

Q10) What is the impact of Computers on Business? 



   

 ÐéÅ´ëÆæÿÐ@þ¬Oò³ Mæü…ç³NÅrÆæÿ$Ï Äñý¬MæüP {ç³¿êÐ@þÐ@þ¬ HÑ$sìý? 
  

Q11) Write about Report generator? 
 Ç´ùÆæÿ$t f¯@þÆóÿrÆæÿ$ Væü$Ç…_ {ÐéÄ¶ý$…yìþ. 
  

Q12) Describe about high level languages? 
 OòßýÌñýÐ@þÌŒý Ìôý…VóüÓhË Væü$Ç…_ ÑÐ@þÇ…^èþ…yìþ. 
  

SECTION – C 

     Answer any three questions. (3 × 16 = 48) 

 

Q13) What are input and output devices? Explain with examples. 
 C¯Œþç³#sŒý Ð@þ$ÇÄ¶ý¬ AÐ@þ#sŒýç³#sŒý ç³ÇMæüÆæÿÐ@þ¬Ë$ HÑ? E§éçßýÆæÿ×ýË™ø ÑÐ@þÇ…^èþ…yìþ. 
  

Q14) Describe the generation of computer? 
 Mæü…ç³NÅrÆæÿ$ Äñý¬MæüP ™èþÆ>Ë¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 
  

Q15) What is the meaning and purpose of DOS? Describe about DOS directory 

structure and File management. 

 DOS Äñý¬MæüP AÆæÿ®Ð@þ¬ Ð@þ$ÇÄ¶ý¬ Eç³Äñý*VæüÐ@þ¬ HÑ$sìý? DOS  Äñý¬MæüP OyðþÆæÿMðütÈ °Æ>Ã×ýÐ@þ¬ 
Ð@þ$ÇÄ¶ý¬ OòœË$ Ðóþ$¯óþgŒýÐðþ$…r$ Væü$Ç…_ ÑÐ@þÇ…^èþ…yìþ. 

      

Q16) Explain about Quick menu and “Block and Save” menu. 

 MìüÓMŠü Ððþ$¯@þ* Ð@þ$ÇÄ¶ý¬ Block and Save Ððþ$¯@þ* Væü$Ç…_ ÑÐ@þÇ…^èþ…yìþ. 
 

Q17) What are the branching statement? Explain with examples. 

 {»ê…_…VŠü statement Ë$ HÑ? E§éçßýÆæÿ×ýË™ø ÑÐ@þÇ…^èþ…yìþ. 
 

Q18) Write a BASIC program to sort the given numbers. 

 C_ā @þ ¯@þ…ºÆæÿÏ̄ @þ$ sort  ^óþÄ¶ý¬rMæü$ BASIC program ¯@þ$ {ÐéÄ¶ý$…yìþ. 
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